TemBreak TemBreak B8 (@ TERASAKI

i:EiAHSHﬂ%El‘E%%E%
Flush Plate Unit
Instruction Manual

= (Types)
T2FP12LS
T2FP12S
T2FP25S
T2FP25L
T2FP40S
T2FP40L
T2FP40LS

AZE(L, TemBreak2 ') —XITBIARM#HEBMA T EELZLH L TLET,
This document has described the procedure which attaches flush plate unit in TemBreak2
series.

KEF CHEAICLELIFADEFRTRURET SV, KEICRBDOE VIR
LV, RUBSFEIRVCKVELHEFICELT, BHEERZAVERA,
Please retain this manual for future reference. The Manufacturer assumes no responsibility for
damages resulting from non-application or incorrect application of the instructions provided herein.

TTINESUEFM O\
T547-0002
ABRTFEFXINZER6-13-47

TEL 06-6791-2756

FAX 06-6791-2732
https://www.terasaki.co.jp

kiki-info @terasaki.co.jp

2G1052SAC (KRB-0680c)

TERASAKI ELECTRIC CO., LTD.
6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763

FAX +81-6-6791-2732
https://www.terasaki.co.jp

int-sales @terasaki.co.jp

(158 FA S 332 =X & [EI48 S Applicable Breaker Types/ Packaged Items

Ryt TR T =48 &
T,Ies Applicable Breaker Types Poles ltems
i NICCB ELCB A[B[CID[E] F | G | H
PE30-C1], PS30-NF, PE50-,
PS50-NF, PE6O-NF, PS60-NF, - 2 [ttt =|a] |4 |-]|-
PE125-(] ), S50-SF, $125-SF RN
T2RP12LS | PES0-CT], PSAOF, PESOCCINEZ, | FZESCAE PZS0NR
PS50-NFINFZ, PESO-NF, PS6O0-NF, : :
N PZEG0-NF, PZSG0-NF, o[t tf]r]=]a] |a] |-|-
PE125-_INFZ, S50-SF,
S125-SFISN, ZAS125-5F PZE125 NF.2850-5,
. 75125-SF, Z5100-SM L]
$100-GF, S125-GF - 2 |11 =[4] [&] [=]=]
T2FP12S | $100-GF, $125-GF, ZAS50-GF, S I I el R T Y el el
ZAS100-GF, ZAS125-GF Z5100-GF, Z5125-GF « A=l 2] [=[=]
E250-SF, S250-L1), ZAE250-SF,
275225.GF, ZAS250- 1, SEaay Sk ZS2 G, 3 |=|=|=|=|1]|=| |4] |2|#
T2FP258 | PS250-] - [ N
$250-SFISN, ZAS225-GF,
xamnoh et 75205-GF, Z8250-GF U
H100-NF, H125-NF, H225-11C], 4 2 |#
T2FP25L | H250-NF, L100-NF, L125-NF, - T
L225-NF, L250-NF, B160, B250 4 [-1-
T2FP40S | E400, S400, ZAE400, ZAS400 ZE400, 28400 % 1
T2FPAOL | H400, 1400 - %#4 ==
T2FP40LS | E400-SF, ZAEA400-SF ZE400-SF % T

Toa? @i ¢ @@ P Ko —

#1:M5x8 #2: M6 x 10 #3:M5x 16 #5: M4 x 55
#4 1 M6 x 25 #6: M4 x 90

WE LTSI E Assembly tools

TN

@ o 0O

BIRELED T3EFE Safety Notice
I, /A RF - REOHIC, TERELZOMDAEEEESHHEE,
HEROME, ZEDER, RTEFTEOLTICEAL THLEIIRLT S,
AETE, REIBFEOI V& TAGRKRL TATE] ITERSLTVEYS,
CEBRLVER SIS AIC, BRAKRMECYAT, REELEEEESR
1T AR EE SN D IHE
(AR BV EB - 1IBAIT, BRERRAES Y AT, PEEOEEOES
EZITHAEEMAEE SN DGERUVYMEZTOANEEENLEHE
HE, TAFEIICRELEBETY, KRICE>TEERGHRICKEU DT
BEEAHYET, WThLEELZNBETIOT, BTFFoTFELY,
Be sure to read these Instructions and other associated documents accompanying the product
thoroughly to be familiarize yourself with the product handling, safety information, and all other
precautions before mounting, using, servicing, or inspecting the product. In these Instructions,
safety notices are divided into | A\Warning|and | A\Caution]according to the hazard level:
: Awarning notice with this symbol indicates that neglecting the suggested procedure
or practice could result in lethal or serious personal injury.
: A caution notice with this symbol indicates that neglecting the suggested procedure or
practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious injury/damage in some situations.
Because safety notices contain important information, be sure to read and observe them.
ANfERR Warning
'EMERLE®DZEE Operation Precautions
OFEFIHTFHIZMALENT TSN, BREOBENNHYFET,
Never touch live terminals. Doing so may result in electric shock.

A\GEE Caution
WjE L ED CSEE | Installation Precaufions

OERTHIL, FEKE (BRIEL) AToTFEL,
Installation work must be performed by competent persons.

OEX(E, LAEMBRFZLZY (OFF) (2L, I@%&U%ﬂﬁﬂlﬁlﬁ%b\ﬁ
WELNC & ERER L,'Cﬁor?é W, BEOBZINHY FT .

Prior to commencing any work on the product, open an upstream circuit breaker or the
like to isolate all sources of power/voltage. Doin ;ELso may result in electric shock.
OE=HEEHA/N—LEMFORAEZEN WL TTEVSENKETD
AT FIE, KKDRREGY FET,

Clean the Rear connection Flat bar mounting surface (contact surface with the breaker
terminals). Otherwise, a fire may result.

OEER S v FIE, Z OBTEAEMBOITEIC L oMY L IERT 5% T
BIZEZAATHBRTITTTFEL, BMARIE, KKOREELYET,
Insert the Rear connection Flat bar to the full depth until the mounting surface comes into
contact with the breaker terminals, and tighten it with the stud fixing screws. Otherwise, a
fire may result.

MAN\;EE. Caution

WiETED CEE  Installation Precautions
O=EIEMmAN—EERL, RUinTFR LI, REMT LY THEREITER
BISHA T TT S0, BHTRBEAEOBE TN HY ET,
Tighten the Rear connection Flat bar fixing screws and the terminal screws to the torque
specified in this manual. Otherwise, a fire may result.
@i 74 Ol (TE R U iEk#%, BEERA/ A—ISEEBL A 5
é;)_(ﬁ LTFEW, BEARY Y FADBRAIENE, KKOBEZALHY

Even when tightening the terminal screws and after conductor connection, do not apply

excessive force to the Rear connection Flat bar. Otherwise, a fire may result,
@iEiEAE, BEERICH L CAEABHANKET 5128, TROMUE

TEE (FER) LTFEL,

Each connected conductor must be supported at a distance M. See following table.

EmEEFA/N—FEE Rear connection Flat bar o 45 90"
arrengement !
EE L& P Distance P P=350mm P=200mm

@ IEAMfTE L, EEAEMERICEMT T TT SV, thoEHEAR~OFEAIZ
LTI, MREERIELFEA,
Please attach the flush plate unit in the rear connected breaker. The manufacturer does
not assure performances of the breaker for application of the other connections.

QIEAMDEMNDEE, 75y aTL— b EHE>TEEBLTT S, &
BrERAE T T B zFa TNAHYET,
In case of the flush plate type, please do not carry with the flush plate. Otherwise, the
breaker may fall. o .

@It T oni-EMIB/EAINT £ T, EEEGA/N\—EER L EED
YU, ALY LIGEVWTT S, BEREZINLTH S, EMBZIILTT

\o

When removing the installed breaker, loosen the terminal screws without loosing the Rear
connection Flat bar fixing screws.

B{ERLEOD TFE Operation Precautions
@ E BRI R Y v T GERT) L,T—iaAli FRRZIMYBKRNTMNSA
(ON) BELTTF L, KKOBZEALHY ET,
When the breaker trips open automatically, remove the cause; then close the breaker.
Otherwise, a fire may result.

WRSF - AR ED TEE Maintenance Precautions

ORST - RiRE, EFMBERT HANTHOTTRELY,
Service and/or inspection of the product must be done by persons having expert
knowledge

ORF - RiRld, EALERERZY] (OFF) ITL, RELTWEWI & &#/ER
LTT-2TFEWL, BREDSENIHY FT,
Before service or inspection of this product, please ensure that no voltage is present on
the breaker supply side. Any device upstream of this breaker should be suitably isolated
otherwise electric shock may result. .

OEMEHRAN—EERL, RUiHFLIE EHMICZERST LY THE
L LTTF S0, @A Lia)lfié: BTYES,
Regularly check that the Rear connection Flat bar fixing screws and the terminal screws
are tightened to torque values shown within this manual, failure to do so may result in fire.




(4] 3 A R4 #3242 4E Flush Plate Unit Mounting Procedure
AR L, EERERFRICERMAFTTEL,
Please attach flush plate unit in rear connected breaker.

DR EHEER Check direction @f#EfT1F Tightening
@##E{T1T Tightening

RLRERFORBERZERLTTSL, @)
Use packaged screws of breaker.

;o
T TR

Y _re .
D I~ LN
\(\L¢}/K 1(&/\
& o2
ol e
<3{‘:7"\l - F
Gy J
----------------------------- % :’-c:---\\-----------------
i
c = B
\//@ —
A &

WT2FP25S 31BN IHE

T2FP25S For 3 poles
§ e e o o o o o e e e = e e e e e e
. O M5 26-4.4N-m

M6 6.0-7.4N-m
Ny O w 1.3-22N-m

O M6 4.6-7.5N-m

2G1052SAC (KRB-0680c) |

GBAKRGER AR

Breaker Mounting Procedure for Flush Plate Type

0 '®

BIIRELEHTHEN S0 ESBTEL, G M5 | 35-44N-m
For mounting dimensions, refer to catalogue. M6 6.0-74N-m
(6] E A HEHESE Conductor Connection Procedure
M6 6.0-74N-m
I | @ M8 11.8-18.6N-m
M12 | 40.2-65.7N-m
M6 @ 6.5mm
J M8 @ 8.5mm
M12 ¢ 13mm

H7R— FEX{HESE Support Mounting Procedure

NI}

H7R— b Support

P

BRFERIITRIN—
Cable or Bus bar

EEEGRAN—EE 0° 45 90°
Rear connect flat bar arrengement ’
BEE & P Distance P P=350mm | P=200mm

* HAR— RMETAET S, The supports are not supplied.




